



NJBMB/026/13

Biochemical Evaluation of Anti-hyperglycemic Effects of Petroleum Ether Extract of *Meliponula ferruginea* propolis in Alloxan-induced Diabetic Rats

¹*Nafiu, M. O., ²Liadi, M.T., ¹Akanji, M. A. ¹Ibrahim, R. B., ¹Olaniyi, S. S.,
¹Olowoyeye, I. M., ¹Olarewaju, M., ¹Ogbontolu, R., and ¹Oyalade, S.

¹Department of Biochemistry, University of Ilorin, Ilorin Nigeria, ²Apiary Unit, University of Ilorin, Ilorin Nigeria.

ABSTRACT: Petroleum ether extract of *Meliponula ferruginea* propolis at 50, 100 and 200 mg/kg body weight was investigated for antihyperglycemic activity and its effect on some biochemical indices of alloxan-induced diabetic rats. Twenty four albino rats were randomized into six groups (A-F) of four animals. Group A (normal control) were treated orally with 0.5 ml of normal saline solution while animals in groups B, C, D, E and F were made diabetic with single injection of alloxan monohydrate (100 mg/kg body weight, p.i.). The fasting blood glucose of the alloxanized rats after 48 hours ranged from 130.05-139.05 mg/dl. The animals were thereafter treated with 0.5ml of paraffin oil, 2.5 mg/kg body weight glibenclamide, 50, 100 and 200 mg/kg body weight, p.o. of the extract dissolved in paraffin oil respectively. During the seven days of treatment, the persistently high fasting blood glucose in the alloxanized rats treated with extracts progressively reduced. The progressive decrease compared favourably with the glibenclamide treated diabetic rats. The high serum activity of alkaline phosphatase, acid phosphatase, aspartate transaminase as well as urea and creatinine levels in the diabetic control rats were significantly ($p < 0.05$) reduced in all the extract treated diabetic treated rats. Also, the reduced serum concentration of albumin and bilirubin in the diabetic control rats significantly ($p < 0.05$) increased in the animals treated with extract at all doses. However, there was no significant difference in the serum activity of alanine transaminase of the extract treated animals when compared with the diabetic control animals. The results suggest that petroleum ether extract of *Meliponula ferruginea* propolis possess anti-hyperglycemic activities and may not pose any deleterious to the biological systems.

KEYWORDS: antihyperglycemic, *Meliponula ferruginea*, propolis, glibenclamide, diabetic.

1.0 Introduction

Diabetes mellitus is a group of metabolic diseases characterized by hyperglycemia resulting from defects in insulin secretion, insulin action, or both (ADA, 2011). It is a major cause of disability and hospitalization and result in significant financial burden (Nagappa *et al.*, 2003). The number of people suffering from the disease worldwide is increasing at an alarming rate with a projected 366 million people likely to be diabetic by 2030 as against 191 million estimated in 2000 (Wild *et al.*, 2004). Shaw *et al.*, 2010 projected that between

2010 and 2030; there will be a 69% increase in the number of adults with diabetes in developing countries and a 20% increase in developed countries while WHO, 2011 projects that diabetes will be the 7th leading cause of death in 2030. Nigeria presents a difficult picture for its 3.1 million people with diabetes which is the highest in Africa Diabetes-related deaths in Nigeria in 2011 accounted for 63,340 people (Oputa and Chinenye, 2012). People with diabetes have an increased risk of developing a number of serious health problems. Consistently high blood glucose levels can lead to serious diseases like nephropathy, retinopathy, neuropathy and cardiovascular problem like stroke and coronary heart diseases (International Diabetes Federation, 2013). According to the WHO, over 150 plants are known to be used for

Corresponding Author

Tel.: +2348054208511;

E-mail: olumikail@gmail.com

the treatment of diabetes mellitus in folklore medicine. Thus, study of plants with hypoglycemic claims is encouraged (Marles and Farnsworth, 1995). This is because herbal drugs are believed to have lesser or no side effects are less expensive as compared to synthetic drugs. Therefore identification and isolation of antihyperglycemic compounds from plants and plant-derived substances have become important (Akanksha *et al.*, 2010).

Propolis or bee glue, as it is commonly named, is a natural resinous mixture produced by honeybees from substances collected from parts of plants, buds and exudates (Ghisalberti, 1979). Normally it is dark brown in colour, but it can be found in green, red, black, and white hues, depending on the sources of resin found in the particular hive area (Mesquita and Franciscon, 1995). Due to its waxy nature and mechanical properties, bees use propolis in the construction and repair of their hives - for sealing openings and cracks and smooth out the internal walls (Bankova *et al.*, 2000) and as a protective barrier against external invaders or against weathering threats like wind and rain.

Propolis contains at least 200 compounds that have been identified in different type of propolis, with more than 100 being present in any given type. These include fatty and phenolic acids and esters, substituted phenolic esters, flavonoids, terpenes, β -steroids, aromatic aldehydes and alcohols, and derivatives of sesquiterpenes, naphthalene and stilbenes (Marcucci *et al.*, 1996). Propolis possesses a broad spectrum of biological activities. The flavonoids in propolis (mainly pinocembrin) are considered to be responsible for its inhibitory effect on bacterial and fungus (Tomás-Barberán *et al.*, 1993). It has been reported that propolis enhances immune system activities (Orsolic and Basic, 2003 and 2006), oxygen radical scavenging (Chen *et al.*, 2004), antimicrobial, anti-inflammatory (Mizoeva and Calder, 1996) and antitumor activities (Duarte *et al.*, 2006). Thus, it is extensively used in health food, pharmaceutical preparations (Orsolic and Basic, 2006) and beverages.

In folk medicine, propolis has been reported to possess therapeutic or preventive effects against inflammation, heart disease, diabetes mellitus, infectious microbes, hepatotoxicity and cancer. In

the Nigeria folk medicine, especially in the South Western part of the country, bees' propolis are for the management of diseases like diabetes, malarial and pain. There has not been adequate scientific report on the various uses attributed to it. Hence, this study was designed to investigate the acclaimed antihyperglycemic effect of *Meliponula ferruginea* propolis and to study any biochemical effects it may have in alloxan-induced diabetic rats.

2.0 Materials and Methods

2.1 Collection and Identification of Plant Materials

Meliponula ferruginea propolis was obtained from Apiary Unit, University of Ilorin, Ilorin, Nigeria and was authenticated at the Faculty of Agriculture, University of Ilorin, Nigeria.

2.2. Glucometer and Assay Kits

Accue™ blood glucose meter kit and Accue™ glucose strip were products of Roche Diagnostics GmbH, Mannheim, Germany. Assay kit for albumin, creatinine, urea, aspartate transaminase and alanine transaminase were products of Randox Laboratory, Co-Antrim, UK.

2.3 Drugs and Chemicals

Alloxan monohydrate was a product of Sigma-Aldrich, St. Louis, USA while Glibenclamide was a product of HOVID Bhd., Ipoh, Malaysia. All other reagents used were of analytical grade and were obtained from Sigma-Aldrich, St. Louis, USA.

2.4 Laboratory Animals

White albino rats (*Rattus norvegicus*) of average weight of 180.50 ± 10.00 g were obtained from the Animal Holding Unit of the Department of Biochemistry, University of Ilorin, Nigeria. The animals were housed in clean wooden cages that provided with rat

pellets (Grand Cereals Limited, Jos, Nigeria) and tap water *ad libitum*.

2.5 Preparation of Extract

The propolis was cut into small pieces and air-dried in the laboratory at room temperature for two weeks. A known weight (50g) was extracted in 1 litre petroleum ether with Soxhlet extractor for 3 hours at 60°C. It was extracted further then evaporated in vacuum oven at 40°C.

2.6 Animal Grouping and Extract Administration

A total of twenty-four (24) albino rats (*Rattus norvegicus*) were used. They were randomly divided into 6 groups (A-F) of four rats each. Group A (normal control) were given saline solution. Animals in groups B, C, D, E and F were made diabetic with 100 mg/kg b. w., of alloxan p.i.. They were orally treated with paraffin oil, glibenclamide (2.5 mg/kg b. w.), 50, 100 and 200 mg/kg b. w. of the extract in paraffin oil respectively. The animals were handled humanely in accordance with the guidelines of European Convention for the Protection of Vertebrate Animals and Other Scientific Purposes (European Treaty Series- No. 123, 1986).

2.7 Induction of Diabetes and Determination of Blood Glucose

The animals were made diabetic by single intraperitoneal injection of 100 mg/kg b. w. of alloxan monohydrate in sterile physiological saline. After a six hours fast (without food, but water), blood samples (drops) were drawn from the tail vein and the fasting blood glucose levels were determined to confirm the induction of diabetes using the ACCU-CHEK™ test strips and blood glucose meter according to the instructions outlined in the User Guide. The animals were then allowed access to pellet and distilled water. Forty-eight (48) hours post induction; the fasting blood glucose was checked again as described earlier to confirm induction of diabetes in the animals. Only animals with blood glucose level higher than 126mg/dl were used for the study (WHO, 1999).

The fasting blood glucose levels of the animals were also determined on the day 3, 5 and 7 after the confirmation of diabetes using the same procedure.

2.8 Preparation of Serum

Under diethyl ether anaesthesia, the neck areas of the animals were quickly cleared of fur and skin to expose the jugular veins. The animals were then made to bleed through their cut jugular vein into a clean, dry centrifuge tube which was allowed to clot for 30 min. The blood samples were centrifuged at 224 g x 10 min using Uniscope Laboratory Centrifuge (Model SM800B, Surgifriend Medicals, Essex, England). The sera were thereafter aspirated with Pasteur pipette into clean, dry, sample bottles and kept frozen overnight before being used for the assays (Yakubu *et al.*, 2010).

2.9 Determination of Biochemical Parameters

The biochemical parameters were determined in the serum using standard methods described for albumin (Grant and Kacchman, 1987), creatinine (Blass *et al.*, 1974), urea (Veniamin and Varkirtzi, 1970), bilirubin (Evelyn and Malloy, 1938), aspartate transaminase, alanine transaminase (Schmidt, and Schmidt, 1963), alkaline phosphatase acid phosphatase and (Wright *et al.*, 1972a and b).

2.10 Statistical Analysis

All data were expressed as mean of four replicates $\pm$ S.E.M. and analyzed using one-way analysis of variance (ANOVA), followed by Duncan's Post Hoc test for multiple comparison. Differences between groups were considered statistically significant at $P < 0.05$.

3.0 Results

The anti-hyperglycemic effect of the extracts on alloxan-induced diabetic rats is illustrated in Table 1. Administration of alloxan (100 mg/kg, p.i.) lead to elevation of fasting blood glucose levels, which was reduced significantly ($P < 0.05$) and progressively in the glibenclamide and

extract-treated animals. The effect of alloxan significantly ($p<0.05$) increased serum biochemical parameters such as alkaline phosphatase, acid phosphatase, aspartate transaminase, creatinine and urea but glibenclamide (2.5mg/kg) and extracts of *Meliponula ferruginea* reversed the alloxan-induced changes as shown in Table 2. Similarly, there was significant ($p<0.05$) increase in the

concentration of serum bilirubin of the treated groups when compared with the diabetic control group. Likewise, administration of petroleum ether extract of *Meliponula ferruginea* propolis significantly increased ($p<0.05$) alanine transaminase activity and serum albumin concentration at all doses of extract when compared with the diabetic control group.

Table1: Effect of administration of petroleum ether extract of *Meliponula ferruginea* propolis on blood glucose level (mg/dL) of alloxanized diabetic rats

Treatment groups	Days after administration of alloxan		
	Day 0	Day 3	Day 7
Control	104.00±2.00 ^a	120.33±0.88 ^a	115.67±1.76 ^a
Diabetic + Untreated	139.50±2.50 ^b	124.50±0.50 ^a	123.00±0.00 ^a
Diabetic + Reference drug	134.50±4.50 ^b	111.00±3.00 ^b	80.00±6.00 ^c
Diabetic + 50 mg/kg body weight of the extract	131.50±5.50 ^b	121.50±0.50 ^a	104.33±6.36 ^b
Diabetic + 100 mg/kg body weight of the extract	133.00±2.00 ^b	107.50±15.5 ^b	102.00±5.00 ^b
Diabetic + 200mg/kg body weight of the extract	130.50±2.50 ^b	108.00±4.00 ^b	119.33±1.20 ^a

Values are mean of four (4) determinations ± SEM.

Values with different superscripts are significantly different from the control

Table 2: Effect of administration of petroleum ether extract of *Meliponula ferruginea* on selected biomolecules of alloxanized diabetic rat serum

Treatment groups	Alkaline Phosphatase (nM/min/mg protein)	Acid Phosphatase (nM/min/mg protein)	Alanine Transaminase (nM/min/mg protein)	Aspartate Transaminase (nM/min/mg protein)	Urea (mg/dl)	Creatinine (mg/dl)	Bilirubin (mg/dl)	Albumin (mg/dl)
Control	5.29±1.37 ^a	3.62±0.64 ^a	6.88±0.28 ^a	3.33±1.11 ^a	16.83±0.24 ^a	2.18±0.12 ^a	2.81±0.27 ^a	4.03±0.34 ^a
Diabetic + untreated	17.51±5.52 ^b	4.47±40.30 ^b	8.29±1.71 ^b	7.63±1.60 ^b	27.96±1.16 ^b	4.61±1.30 ^b	1.06±0.14 ^d	3.27±0.06 ^b
Diabetic + Glibenclamide	6.23±3.61 ^a	2.66±0.22 ^a	7.51±0.01 ^b	3.99±0.34 ^a	18.12±0.24 ^a	3.95±0.11 ^a	1.94±0.05 ^b	4.16±0.06 ^a
Diabetic + 50mg/kg extract	6.51±0.00 ^a	2.38±0.19 ^b	8.54±0.00 ^b	3.54±0.00 ^a	18.37±0.36 ^a	2.79±0.50 ^a	1.67±0.23 ^b	4.13±0.15 ^a
Diabetic + 100mg/kg extract	5.42±0.12 ^a	2.09±0.31 ^c	8.73±0.61 ^b	3.31±0.07 ^a	18.85±0.35 ^a	3.35±0.27 ^a	1.56±0.35 ^b	4.52±0.08 ^a
Diabetic + 200mg/kg extract	7.86±0.00 ^a	2.24±0.42 ^b	10.10±0.15 ^b	3.90±0.97 ^a	17.38±1.00 ^a	2.85±1.08 ^a	1.19±0.11 ^c	4.75±0.05 ^a

Values are mean of four (4) determinations ± SEM.

Values with different superscripts are significantly different from the control

4.0 Discussion

Management of diabetes with the agents devoid of any side effects is still a challenge to the medical system. This concern has led to an increased demand for natural products with antihyperglycaemic activity, having fewer side effects (Sharma and Kumar, 2011). One of the most potent methods to induce experimental diabetes mellitus is chemical induction by alloxan. Alloxan causes diabetes through its ability to destroy the insulin-producing beta cells of the pancreas (Lenzen and Panten, 1988; Oberley, 1988). *In vitro* studies have shown that alloxan is selectively toxic to pancreatic beta cells, leading to the induction of cell necrosis (Jorns *et al.*, 1997; Ledoux *et al.*, 1986). The cytotoxic action of alloxan is mediated by reactive oxygen species, with a simultaneous massive increase in cytosolic calcium concentration, leading to a rapid destruction of beta cells (Szkudelski, 2001).

Furthermore, glibenclamide, a reference anti-diabetic drug, commonly used in several studies to compare the efficacy of various hypoglycemic compounds acts by various mechanisms such as binding to the ATP-sensitive potassium channel and in the process, lowers glucose levels. Others include suppressing hepatic glucose production, increasing insulin sensitivity of extra-pancreatic tissues and fatty acid oxidation, enhancing peripheral glucose uptake, decreasing hepatic glycogenolysis and gluconeogenesis as well as absorption of glucose from the gastrointestinal tract (Yakubu *et al.*, 2010).

The present experimental studies reveal that the petroleum ether extracts of 100 mg/kg body weight, administered orally for 7 days produced a significant decrease in the blood glucose level in the model of (Table 1). The presence of phytochemicals like alkaloids, flavonoids, anthraquinones and terpenoids in *Meliponula ferruginea* propolis may be responsible for the hypoglycaemic activity obtained in treated alloxan-induced diabetes rats. Garzon de la Mora *et al.*, 2008 and Dineshkumar *et al.*, 2010 have independently reported that alkaloid extract of *Lupin exalyatus* and carbazole alkaloid from *Murraya koengii* reduced the elevated fasting blood sugar in diabetic rats. It has also been

reported that flavonoids extracted from lotus (*Nelumbo nucifera* Gaertn) leaf at the doses 50 and 200 mg/kg body weight for 28 days significantly decreased fasting blood sugar in alloxan-induced diabetic mice (Taoying *et al.*, 2009). Several plant-derived flavonoids, apart from possessing their common antioxidant activity, have been reported to inhibit aldose reductase activity and impart beneficial action in diabetic complications (Shin *et al.*, 1995; Iwata *et al.*, 1999; Aida *et al.*, 1990). Similarly, these phytochemicals may also contribute beneficially in mitigating glucose autooxidation (Larson, 1988), glycation, and act against the major contributors for increased free radicals generation in diabetic lens (Wolff and Dean, 1987; Srivastava *et al.*, 1996).

Alkaline phosphatase (ALP) is a liver marker enzyme often employed to assess the integrity of plasma membrane and endoplasmic reticulum (Akanji, 1993), while acid phosphatase (ACP) is an indicator of damage to the lysosomal membrane (Collins and Lewis, 1971). The transaminases (AST and ALT) are well-known enzymes used as biomarkers to predict possible toxicity to the liver (Rahman, 2001). The significant increased ($p < 0.05$) activities obtained for ALP, ACP, ALT and AST in the untreated diabetic rats compared with normal control (Table 2) may be an indication of impairment of liver function. Yanpallewar *et al.* (2003) stated that high serum concentrations of ALT, AST, ACP and AST indicated cellular leakage due to disintegration of cell membrane in liver. Also elevation in serum activities of both transaminases (ALT and AST) obtained in diabetic control rats may suggest damage to the liver cells as well (Wolf *et al.*, 1972). Yakubu *et al.* (2003), in the same vein, has reported increased serum ALP and ACP activities as a confirmation of damage to the plasma membrane, with a consequential compromise of membrane integrity.

However, *Meliponula ferruginea* propolis treatment significantly ($p < 0.05$) decreased the serum activities of AST, ACP, and ALP except ALT (Table 2) towards the respective normal control. This may imply stabilization of plasma membrane as well as repairment of hepatic tissue damage that can be considered as an

expression of the functional improvement of the hepatocytes (Nirala and Bhadauria, 2008). This result is also in agreement with the findings that propolis induced reduction of the increased activity of AST in plasma of rats treated with alcohol (Kolankaya *et al.*, 2002) or galactoseamine (Nirala *et al.*, 2008).

Albumin is the most abundant plasma protein, accounting for 55–60% of the measured serum protein (Gosling, 1995). Albumin, which is manufactured in the liver, is a major carrier protein that circulates in the bloodstream (Tietz, 1986). Low serum albumin concentration suggests chronic damage to the liver as a result of infection (Naganna, 1999). Therefore, the reduction in serum albumin level in the untreated diabetic rats is an indication of diminished synthetic function of the liver (Sunmonu and Afolayan, 2013). Oral administration of petroleum ether extract of *Meliponula ferruginea* propolis, however, restored the albumin level towards the respective control value (Table 2)

Bilirubin is the major product that results from the breakdown and destruction of old red blood cells. It is an important metabolic breakdown product of blood with biological and diagnostic values (Tietz, 1986). It is removed from the body by the liver; hence, it is a good indication of the health status of the liver. Decreased serum level of total bilirubin in diabetic control rats as observed in the present study may be a result of inability of the liver to perform its synthetic function adequately. Treatment with *Meliponula ferruginea* propolis extract was able to reverse this condition in diabetic treated rats, to a level comparable to the values obtained for glibenclamide treated rats. All the data obtained with respect to liver function indices indicated absence of any significant liver damage as a result of treatment with petroleum ether extract of *Meliponula ferruginea* propolis in diabetic rats.

The increase in serum levels of urea and creatinine in the untreated diabetic control rats as observed in the present study is expected. Deficiency of insulin and consequent inability of glucose to reach the extra-hepatic tissues stimulate gluconeogenesis as an alternative route of glucose supply (Robinson and Johnston,

1997). This has been linked with increased proteolysis which releases free glucogenic amino acids into the plasma that are deaminated in the liver with the consequence of increased urea in the blood.

Creatinine is a metabolite of muscle creatine, and the concentration in serum is proportional to the body muscle mass. The amount of creatinine is usually constant; hence, elevated levels indicate diminished renal function only, since it is easily excreted by the kidneys (Loeb, 1991). In the same vein, Alder *et al.* (2003) reported that high creatinine levels in diabetes may indicate a pre-renal problem such as volume depletion and may also be due to impaired function of the nephrons as reported by Judkay (2007).

The administration of petroleum ether extract of *Meliponula ferruginea* propolis which significantly reduced the levels of these two metabolites, confer protection against impairment due to diabetes. Thus, indicating that the extract can effectively avert the incidences of diabetic nephropathy. Diabetic nephropathy is mainly associated with excess urinary albumin excretion, abnormal renal function as represented by an abnormality in serum creatinine and urea (Rao and Nammi, 2006) in diabetic control animals. Similar observations have been reported using *Picrorhiza kurroa* and *Vernonia amygdalina* extracts in diabetic rats (Joy, 1999; Atangwho *et al.*, 2007). Of particular interest is the fact that the effect of *Meliponula ferruginea* propolis at the dosage of 100 mg/kg body weight compared favourably well with the normal control.

From this study, the oral administration of petroleum ether *Meliponula ferruginea* propolis extract has beneficial effects on blood glucose levels. It can therefore, be concluded that the petroleum ether extract of *Meliponula ferruginea* propolis, besides its antihyperglycemic action, could protect the liver, kidney and blood against impairment due to diabetes. The anti-hyperglycemic activity of the extract of *Meliponula ferruginea* propolis was similar to the reference drug, glibenclamide, with the best activity at 100 mg/kg b. w. of the extract. Further investigation is necessary to determine the exact phytoconstituents

responsible for antidiabetic effect.

References

- Adler, A.I., Stevens, R. J., Manley, R. W., Cull, C. A. and Holman, R. R. (2003). Development and progression of neuropathy in type 2 diabetes: The United Kingdom Prospective Diabetes Study (UKPDS 64). *Kidney International* 63: 225-232
- Aida, K., Tawata, M., Shindo, H., Onaya, T., Sasaki, T., Yamaguchi, T., Chin, M. and Mitsuhashi, H. (1990). Isoliquiritigenin: a new aldose reductase inhibitor from glycyrrhizae radix. *Planta Medicine*. 56: 254-258.
- Akanji, M. A. (1993). Effect of chronic consumption of metabisulphite on the integrity of the rat kidney cellular system. *Toxicology* 81(3) : 173-179.
- Akanksha, Srivastava, A. K. and Maurya, R. (2010). Antihyperglycemic activity of compounds isolated from Indian medicinal plants. *Indian Journal of Experimental Biology*. 43:294-298
- Akinkugbe, O. O. (1997). National Expert Committee on Non-Communicable Diseases (NCD) in Nigeria. Final report of a National Survey, Lagos. pp 64-90
- American Diabetes Association (ADA). (2011). Position Statement: Diagnosis and classification of diabetes mellitus. *Diabetes Care* 34(suppl 1): S62-S69.
- Atangwho, I.J, Ebony, P.E., Eteng, M.U., Eyong, E.U. and Obi, A.U. (2007). Effect of *Vernonia amygdalina* del leaf on kidney function of diabetic rats. *International Journal of Pharmacology*. 33(2): 143-148.
- Bankova, V., Castro, S. L. and Marcucci, M. C. (2000). Propolis: Recent Advances in Chemistry and Plant Origin. *Apidologie*. 31:3-15.
- Blass, K. G., Thiebert, R. J. and Lam, L. K. (1974). Study of mechanism of JAFE reactions. *Clinical Chemistry* 12 (7):336-343.
- Chen, C. N., Weng, M. S., Wu, C. L. and Lin, J. K. (2004). Comparison of radical scavenging activity, Cytotoxic effects and apoptosis induction in human melanoma cells by Taiwanese propolis from different sources. *Evidence-Based Complementary & Alternative Medicine* 1(2): 175-185.
- Cheriyath, P., Gorrepati, V. S., Peters, I., Nookala, V., Murphy, M. E., Srouji, N. and Fischman, D. (2010). High total bilirubin as a protective factor for diabetes mellitus: an analysis of NHANES data from 1996-2006. *Journal of Clinical & Medical Research* 2: 201-206.
- Collins, A. J and Lewis, D. A. (1971). Lysosomal enzyme level in blood of arthritic rats. *Biochemical Pharmacology* 28:251-253.
- Dineshkumar, B., Mitra, A. and Mahadevappa, M. (2010). Antidiabetic and hypolipidemic effects of mahanimbine (carbazole alkaloid) from *Murraya koenigii* (Rutaceae) leaves. *International Journal of Phytomedicine* 2:22-30.
- Duarte, S., Rosalen, P. L., Hayacibara, M. F., Cury, J. A., Bowen, W. H., Marquis, R. E., Rehder, V. L., Sartoratto, A., Ikegaki, M. and Koo, H. (2006). The influence of a novel propolis on *Mutans streptococci* biofilms and caries development in rats. *Archives of Oral Biology* 51(1): 15-22.
- Evelyn, K. A. and Malloy, H. T. (1938). Micro-determination of oxyhaemoglobin, methaemoglobin and sulphaemoglobin in a single sample of blood. *Journal of Biological Chemistry* 126:655
- Garzon de la Mora, P., Villatan-Bernal, J. R., Moreno-sandoval, L. E., Avalos-Alcantara, G., Gurrola-Diaz, C. and Garcia-Lopez, P. M. (2008). *L. exaltatus* alkaloids induce hypoglycemia and hypotriglyceridemia in normal and diabetic Wistar rats. Lupin for health and wealth, Proceedings of the 12th international Lupin Conference, Fremantle, Western Australia, pp 529-532.
- Ghisalberti, E. L. (1979) Propolis: a review. *Bee World*; 60:59-84
- Gosling, P. (1995). Albumin and the critically ill. *Care Critical Ill* 11: 57-61
- Grant, G. H. and Kacchman, J. F. (1987). In: *Fundamental of Clinical Chemistry* (Tietz,N.W), 3rd edition. W. B. Saunders Company, Philadelphia. pp.298-320.
- Han, S. S., Na, K. Y., Chae, D. W., Kim, Y. S., and Chin, H. J. (2010). High serum bilirubin is associated with the reduced risk of diabetes mellitus and diabetic nephropathy. *Tohoku Journal of Experimental Medicine* 221: 133-140.
- International Diabetes Federation (2014). *Complications of diabetes*. www.idf.org/complications.diabetes
- Iwata, S., Nagata, N., Omae, A., Yamaguchi, S., Okada, Y., Shibata, S. and Okuyama, T. (1999). Inhibitory effect of chalcone derivatives on recombinant human aldose reductase. *Biology & Pharmacy Bulletin*, 22(3): 323-325.
- Jorns, A., Munday, R., Tiedge, M. and Lenzen, S. (1997). Comparative toxicity of alloxan, N-alkyl-alloxans and ninhydrin to isolated pancreatic islets *in vitro*. *Journal of Endocrinology* 155: 283-293.
- Joy, K. L and Kuttarn, R. (1999) Anti-diabetic activity of *Picrorrhiza kurroa* extract. *Journal of Ethnopharmacology* 67(2):143-148.
- Judykay, T. (2007). Nutrition for reducing urea and creatinine in the blood. *Diabetes Care* 27: 2191-2192.

- Kolankaya, D., Selmanoglu, G., Sorkun, K. and Salih, B. (2002). Protective effects of Turkish propolis on alcohol induced serum lipid changes and liver injury in male rats. *Food Chemistry* 78: 213-217.
- Larson R. A. (1988). The antioxidants in higher plants. *Phytochemistry* 27(4): 969-978.
- Ledoux, S. P., Woodley, S. E., Patton, N. J. and Wilson, L. G. (1986). Mechanism of nitrosourea-induced β -cells damage-alterations in DNA. *Diabetes* 35: 866-872.
- Lenzen, S. and Panten, U. (1988). Alloxan history and mechanism of action. *Diabetologia* 31:337-342.
- Loeb, S. (1988) *Signs and Symptoms Handbook*. Springhouse, PA: Springhouse.
- Marcucci, M. C., DeCamargo, F. A. and Lopes, C. M. A. (1996). Identification of amino acids in Brazilian propolis. *Z. Naturforsch [C]*, 51: 11-14.
- Marles, R. J. and Farnsworth, N. R. (1995). Antidiabetic plants and their active constituents. *Phytochemistry* 2:137-189.
- Mesquita, R. C and Franciscan, C. H. (1995). Flower visitors of *Clusia nemorosa* in an Amazonian white-sand Campin. *Biotropica* 27(2): 254-258
- Mizoeva, O. K. and Calder, P. C. (1996). The effect of propolis and its components on eicosanoid production during the inflammatory response. Prostaglandin, Leukotriene, & Essential Fatty Acids 55: 441-449.
- Naganna, B. (1999). Plasma proteins. In: Textbook of Biochemistry and Human Biology, G. P. Tawlar, L. M. Srivastava, and K. D. Moudgils, Eds, Prentice-Hall, New Delhi, India. pp. 172–180
- Najappa, A.N, Thakuradesai, P.A, Rao, N.V and Singh, J. (2003). Anti-diabetic activity of *Terminalia catappa* Linn fruits. *Journal of Ethnopharmacology*, 88 (1):45-50
- Nirala, S. and Bhadauria, M. (2008). Propolis reverses acetaminophen induced acute hepatorenal alterations: A biochemical and histopathological approach. *Archives of Pharmaceutical Research* 31 (4): 451-461
- Nirala, S. K., Bhadauria, M., Shukla, S., Agrawal, O. P., Mathur, A., Li, P. Q. and Mathur, R. (2008). Pharmacological intervention of tiferon and propolis to alleviate beryllium-induced hepatorenal toxicity. *Fundamental Clinical Pharmacology* 22: 403-415.
- Oberley, L. W. (1988). Free radicals and diabetes. *Free Radical Biology and Medicine* 5:113-124
- Oputa, R. N. and Chinenye, S. (2012). Diabetes mellitus: a global epidemic with potential solutions *African Journal of Diabetes Medicine* 20 (2): 33-35.
- Orsolic, N. and Basic, I. (2003). Immunomodulation by water-soluble derivative of propolis: A factor of antitumor reactivity. *Journal of Ethnopharmacology* 84(2-3): 265-273.
- Orsolic, N. and Basic, I. (2006). Cancer chemoprevention by propolis and its polyphenolic compounds in experimental animals. *Recent Progress in Medicinal Plants* 17: 55-113.
- Rahman, M. F. (2001) Effects of vepacide (*Azadirachta indica*) on aspartate and alanine aminotransferase profiles in a subchronic study with rats. *Human and Experimental Toxicology* 20(5): 243–249.
- Reitman, S and Frankel, S (1957). A colorimetric method for the determination of serum glutamic oxaloacetic and glutamic pyruvic transaminases. *American Journal of Clinical Pathology* 28:53–56.
- Rho, N. K. and Nammi, S. (2006). Anti-diabetic and reno-protective effects of chloroform extract of *Terminalia chebula* seeds in streptozocin induced diabetic rats. *BMC Complementary Alternative Medicine*. 6:17.
- Robinson, G. and Johnston, D. E. (1997). Mechanisms of Disease : An Introduction to Clinical Science, Cambridge University Press, Cambridge, Mass, USA, 1st edition. pp 518-520
- Schmidt E, Schmidt FW (1963). Determination of serum glutamic oxaloacetic and glutamic pyruvic transaminase. *Enzyme Biological Clinic* 3:1-5.
- Sharma U. S. and Kumar, A. (2011) Anti-diabetic effect of *Rubus ellipticus* fruit extracts in alloxan induced diabetic rats. *Journal of Diabetology*. 2(4): 1-5.
- Shaw, J. E., Sicree, R. A and Zimmet, P. Z. (2010). Global estimates of the prevalence of diabetes for 2010 and 2030; *Diabetes Research and Clinical Practice* 8(7): 4 -14
- Shin, K. H., Kang, S. S., Seo, E. A. and Shin, S. W. (1995). Isolation of aldose reductase inhibitors from the flowers of *Chrysanthemum boreale*. *Archives of Pharmaceutical Research* 18:65-68.
- Srivastava, S. K., Awasthi, S., Wang, C., Bhatnagar, A., Awasthi, Y. C. and Ansari, N. H. (1996), Attenuation of 4-hydroxynonenal-induced cataractogenesis in rat lens by butylated hydroxytoluene. *Current Eye Research* 15, 749-754.
- Sumonu, T.O and Afolayan, J.A. (2013). Evaluation of anti-diabetic activity and associated toxicity of *Artemisia afra* aqueous extract in Wistar rats. *Evidence Based Complementary and Alternative Medicine*. 2013: 929074 doi : 10.1155/2013/929074
- Szkudelski, T. (2001). The mechanism of Alloxan and Streptozotocin action in B cells of the rat pancreas. *Physiology Research* 50:537-546.

- Taoying, Z., Denghong, L., Xingyuan, L., and Yunbo, L. (2009). Hypoglycemic and hypolipidemic effects of flavonoids from lotus (*Nelumbo nucifera gaertn*) leaf in diabetic mice. *Journal of Medicinal Plants Research* 3(4):290-293
- Tietz N. W (1986). *Fundamentals of Clinical Chemistry*, WB Saunders, Philadelphia, Pa, USA, 3rd edition. pp 519-618
- Tomás-Barberán, F. A., García-Viguera, C., Vit-Oliviera, P., Ferreres, F. and Tomás-Lorente, F. (1993). Phytochemical Evidence for the Botanical Origin of Tropical Propolis from *Venezuela*. *Phytochemistry* 34: 191-196.
- Veniamin, M.P. and Varkirtzi, C. (1970). Chemical basis of the carbamidodi-acetyl micro-method for estimation of urea, citrulline and carbamyl derivatives. *Clinical Chemistry* 16:3-6.
- WHO (1999). Definition, diagnosis and classification of diabetes mellitus and its complications: Report of a WHO Consultation. Part 1: Diagnosis and Classification of Diabetes Mellitus. Geneva.
- WHO (2011). Global status report on non-communicable diseases 2010. Geneva
- Wild, S., Roglic, G., Green, A., Sicree, R. and King, H. (2004). Global prevalence of diabetes: Estimates for the year 2000 and projections for 2030. *Diabetes Care* 27: 1047-1053.
- Wolf, P. L., Williams, D., Tsudaka, T. and Acosta L. (1972). *Methods and Techniques in Clinical Chemistry*, John Wiley & Sons, New York, NY, USA. pp. 417.
- Wolff, S. P. and Dean, R. T. (1987). Glucose autoxidation and protein modification. The potential role of 'autoxidative glycosylation' in diabetes. *Biochemical Journal* 1: 245(1):243-250.
- Wright, P. J., Leathwood, P. D. and Plummer, D. T. (1972a). Enzyme in rat urine: Alkaline phosphatase, *Enzymologia*, 42:317-327.
- Wright, P.J., Leathwood, P. D. and Plummer, D. T. (1972b). Enzyme in rat urine: Acid phosphatase. *Enzymologia* 42:459-462.
- Yakubu, M. T. and Omoniwa B. P. (2012). Effects of aqueous stem extract of *Massularia acuminata* on some liver function indices of male rats. *Iranian Journal Toxicology* 6: 716-722
- Yakubu, M. T., Bilbis, L. S., Lawal, M. and Akanji, M. A. (2003). Evaluation of selected parameters of rat and kidney function following repeated administration of yohimbine. *Biokemistri*. 15:50-56
- Yakubu, M. T., Akanji, M. A. and Nafiu, M. O. (2010). Antidiabetic activity aqueous extract of *Cochlospermum planchonii* root in alloxan-induced diabetic rats. *Cameroon Journal of Experimental Biology* 6(2): 91-100.
- Yanpallewar, S. U., Sen, S., Tapas, S., Kumar, M., Raju, S. S. and Acharya, S. B. (2003). Effect of *Azadirachta indica* on paracetamol-induced hepatic damage in albino rats. *Phytomedicine* 10: 391- 396.